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@3 (B) -7 (s g 2 fd). & (€) 0

Q2 Lel 7 (x, y) = ye""+ cosx, -then J—a—j—
e (¢) cosy (d)siny (e) 0 ) \

Q3: Parametric equations of the tangent line to the curve
of intersection of the surfaces : 8z =/x> +y*> 2x+y-3z=5

N =
1& -

: 3 . I’) 5
at the pomt | 3,4,<
; >3

(2) x=3-3,y=4+21,z=>~5 (b) x=3-3,y=4~ 2152—%+5t

>
\\\'(:)xB— V= 4+2lrzu—§— (d) '3+3f’3’:4+213,2=§~+5t
. \ )

none
OZ

Q4:Let fluy)=Z,z=x+f(xy) then y@;%;:
(@) » (b) w @t (d)-x (e) o

.
e

%
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Q5: A point on the surface Cx(y+z)+2x{l=y)+ 2t =1
at which the tangent plane is parallel to. xz-plane is:

(@) 2-31) (b) @-31) (©) @3-) (@) ean) (e 231

Q6:1f the maximum value of the directional derivative
of a function s at a point P(,1,-1)-is equal to 12
and this value occurs in the direction of P 3i — W + V11K
jthen the gradient of 7 at P(1,-1) is equal to .
@6;—8,24’1—1 ) () 632411 (©)(6-8,411) (D) (- 6,-82411 )(e)(6.-8,-2+1T)

Q7 :Let flxny)= 3y 2‘/ JIL then one of the following is true
yotx

(2) domain of f is 9tx%-{0,0)}

) @;ﬂong the curve y-x =0,we have ()limg. /(%)= %

{c) f is continuous at (-L1)
(d) along the curve y-x=0,we have ( lim. 1/ (. )=1
(e) f has no critical points . '

Q8::Let 2=l m;g(y),g(l): 2,g'1)=3.1 ’@z%:f "2)=1

then at the point (x.y)=(11) usequalto:

©2 @ ©o 4
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Q9 : The critical points of the function
Fx,y)=3%" 3yt —x’ +0xY,

are classified as follows : |
‘@) (0,0)isa saddle point and  f (a,4) 1s local maximum
(b) f(00)isa saddle point and  f(44) 1s local minimum
(c) Both f (0,0) and f (é?@ are local maximum

(d) Both £(0,0) and f(a,4) are local minimum

(e) f00)isa local minimum and f(4,4)1sa saddle point

Q10: Parametric equations of the normal Line to the surface
\j xl4et cgsy+ye= =24 at the pO'lﬂt (o)%,o) 19 - - :

S~

N x=4 _ e
. (b) x=0,y 2!,2 =
% () xzod,-_:%,zzo (e) none

Q11 : The directional derivative of f(x, ;}; iy-2y'x+zt Bt
P (11,-1)is equal to 0 i the direction of the vector

@ 023) (O e (o2 @ BF @ 2=y

3 In

012 ¢ The double integral | [l with order of

i 0

integration reversed will be
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CIRCLE the Correct answur or write the final answer . P W - = :
* Consider the vectors : a 20— j+kb 3i+2j-2k ,and =, o s \
answer questions : 12,and 3. : 4 i SIS S S e
. et N {7, = Z_: = 3‘
i s g - (fﬁ G "f 51
‘ 1- Proj-b isthe vector : o
: = e A ﬁ
| (a) —(3:+2J —~2k) - (b) H(3;+2; —2K) ' e
i 7 "5 ESHA T
( ) o, 4806 .5 fﬂ T
©)=@i=jrk) @ -—=Ri-jtk ik
(9)5 = \ g9
bt T N e v/, .
2- ‘IZaxbn (CROR IR Y7
‘ : d ‘\\
3 hogonal to both  a@,b and of 3 i ‘g(ﬁ?%fﬁ{\ ¢
¥ t t t ! ] 3 St =\ A = :
vector orthogonal to both  a,b and ofmorm o 18 aNTS >7 J : ﬁ_}i .
Ces@© - { 7‘23\9
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* Consider the the vectors a,b  such that |a l “ s \b\ 3 “a b“ 4s “3\,(\:-— e/
7 =\
then answer questions : 4 and 5. e
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¢ line passing through the point P(2,3,1)

6- Parametric equations of th
and perpendicular to the plane X +2y—z= 10V
»t,y:FZ-i—Zt,z =441 gg;x?.+t,y=3+21,z =1
(d z=1—4t

(a) x=3
z==1+1 x:1+3£,y:2F25,

(©) x:1+2€,y:2+3t,

« Consider the points : P(Z,],O),Q(4,0,1),R(S,B,-Z),S(Z,B,l),and
s

answer questions : 78,9 and10 . X
N
T
7. Parametric equations of the line passing throu the points P,Q are:
(2) x:2+31,y:1+2t,z =1-2t \(F x/:2+2r,y=1—t,z:+f
e = _o4a,y=1-2z="2 1 d) c=243t,y=14+212 =2t
Q (=3
e
L
8- An qu_ati‘dns of the plane determined by the points P,Q,8 is: ?‘;E\:B
@"Sxfzywz:a (b) Ix—4z=] v L Y
() 3x+2y=8 ‘ Mrges ST LT
g 0 ] '?- 9 3
goa

© y+z=l

bt o V//f\—’\ .
|
X /

9_The area of the triangle with vertices P,0,S 1S3 . : ;

r the points P,0,S are collinear (justify your ansWer_); :

ST . \
C;}.\\.\“ Qé""
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10 - Determine whethe




S5D q)ﬂ WL
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e Consider the lines : o o
b cx=1+t,p=2tz=1-81, cx=2-2t,y=1-4t,z==1+2
and answer questions : 1'1,and12 .
2 ~19 -4 3277

[’\\"'“\‘}'Z.v""‘? IShe =

11-The distance between the two lines L), L, is equal to :

12- An equations-of the plane determined by the lines L, L, is:

(a) 8x-—y+5z=21 (b} 3x+y+z=4
(¢) 3x—y+z=0 (d) 3x—y+z=4

In questions 13,14 Identify and sketch .

13-y 22yt =5 -4 y
Wy @ - bl
\:\m-v e
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(b) 2y =x* +& g
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(b) »=2sind
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